STATISTICS COMMANDS FOR TI-83/84
Typical Errors/ Problems:

	To reset the editor
Use this when you want to restore 

L1, L2, L3, L4, L5, L6 after inserting or deleting lists
STAT – EDIT – 5: SetUpEditor

SetUpEditor – ENTER
Done


	DIM MISMATCH

This error is caused by having unequal numbers in the lists

1. Quit

STAT – EDIT

Check numbers and correct error

2nd MODE (This will quit this screen and go back to the previous screen)

Pressing 2nd ENTER will go back to the previous command (like CTRL – Z) on a computer.



	To show  List

STAT – EDIT – 1: Edit …

ENTER


	If r is missing (eg if battery is replaced or calculator is reset)

CATALOG (2nd 0) D - DiagnosticOn

Turns on r and r2


	To clear list

Show List

Highlight list name

CLEAR - ENTER

	To delete list

Show List

Highlight list name

DEL 



	
	

	
	

	
	


UNIVARIATE DATA

	Entering values into list 

STAT – 1:Edit  ENTER
Enter values and press ENTER
	To find mean, sd, sum, Q1, Q3, etc

STAT > CALC

1: 1-Var Stats (Enter list number if it is not List 1)

ENTER
Values returned include 

Use Sx for Standard Deviation



	
	

	
	


BIVARIATE DATA

Make sure two lists have been entered.
First decide which values are independent and dependent 
	Lin Reg
The equation of the line is stored in Y1= , and will be displayed on the L1, L2 scatter plot.

STAT > CALC

4: LinReg (ax+b) 
or 
8: LinReg (a+bx)
Tip:  Always enter independent list, dependent list then the equation 
4: LinReg (ax+ b) L1, L2, Y1
ie 4: LinReg (ax+ b) L1(2nd 1), L2(2nd 2), Y1(VARS - > YVARS - 1: Function – 1: Y1) ENTER

	Scatterplots

STATPLOT (2nd Y=)

4: Plots Off (to turn off any previous plots)

1: Plot1 ENTER
On ENTER (down)
Type: Select first plot type ENTER (down)
Xlist: L1 (independent must go here)

Ylist: L2 (dependent must go here)

If more than one graph will be shown, change the Mark type.

Zoom 9

As the equation was entered previously in the Lin Reg function, Y1 is also drawn.



	RESIDUALS
This gives a  residual plot directly, without the need for a residuals calculation in STAT/EDIT
To graph a Residual plot, 

2nd Y=
STAPLOTS

1: Plot 1 … On ENTER
Down to Ylist

2nd STAT 7:RESID

Zoom 9

Residual Plot now created


	To Transform Data (x2)
The new relationship will be between the dependent variable (y) and the transformed independent variable (x2 in this case). Thus y=ax2+b (or y=a+bx2 if you have used 8.LinReg)

STAT – EDIT - 1:Edit  ENTER
Move up to L3
To apply a square transformation on List 1:  L3 = L1 ^ 2 places the squared values of L1 into L3
STAT > CALC 4:LinReg(ax+b) L3, L2, Y2  (Store the equation in Y2)

ie STAT > CALC 4:LinReg(ax+b) L3 (2nd 3), L2 (2nd 2), Y2 (VARS - > YVARS - 1: Function – 1: Y2)
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